
 

 

Answer on Question#56551 - Physics - Mechanics - Relativity 

 

Solution: 

(43) Since the angular momentum of the system is conserved, the angular velocity of 

the platform should first smoothly increase (until the tortoise reaches the center of the 

chord) and then smoothly decrease. It means that the variant (B) is the most preferable 

one. 

(44) From the shape of this triangle it’s easy to notice that the point A is closer to the 

center of mass than the point B. Therefore, according to the parallel axis theorem the 

moment of inertia about point A is greater than the momentum of inertia about point B. 

Thus it is harder to rotate this triangle about point A than about point B and hence 𝛼𝐴 <

𝛼𝐵. 

(45) Since there is no any torque acting on the satellite, the angular momentum is 

conserved. 

Answer: 

(43) (B) 

(44) (B) 

(45) (D) 
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